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SERIE 4

Exercici 1
Ql a Q2 ¢ Q3 d Q4 ¢ Q5 b

Exercici 2

a)

U, U, 12 12
A3=IR5+IR6=R_5 R—6=E+%=1,8A

{U1=(R1+R2)11+R3(11+12) R {U1=(R1+R2+R3)11+R312
Us;=R3 (1 + 1) + Ry I, Us;=R311 + (R3 + Ry I,

[R1+R2+R3 R; ][11]_[U1]
R; R;+R, | |LL] [Us

5wl o=l = [5]=1350 ]2

Ay =1, =—-0218A A, =1,=1309A

b) Wi=U,(I+Ig,) =12 (1309+2)=2291W

Py =U; I, =12 (-0,218) = -2,616 W

1

PUZ = UZ 13 =12 (1,8) = 21,6W

Py, = U3 I, =36 (1,309) = 47,124 W
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Exercici 3
a)
2 2 U\ 2 u? 2
W]_ =R11R1 +R2 IR2 =R1 (R_l) +R21N2 =R_1+R21N2
U? 2
R 889 — <70
Ne=—7F— 7 he=J7—5 =494
Sntr = Un2 Inz = 120-4,9 = 588 VA
b)
UZ
Q =0QL—0Qc =XLII%IZ_X_
C
Un2 Uk UR
Iy =—/—77= =~ R%*‘XE:IT XL = ITZ—R§
’Rzz +Xf N2 N2
Xy = 1207 152 =19,36 Q
L™ 492 T
2 2
Q =19,36 - 4,9% — %0 = 253,23 var
C)
U U U? 2302

=57,23Q

“linst  Sinst /P24 Q% /8897 + 253,232
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Exercici 4
PN 4000
a) I ——=————31,83Nm
) I N nyZs o 120022
P 4000 UN—E 280—233,9
by Ey=—"=——=12339V - R =12 T= =270
In 17,1 In 17,1

¢) En el punt de funcionament:

Er=N_ R N=22_27 2 =11692V
2 2 2
n' = ny =222 1200 = 599,8 min~!
EN 2339
P 'n 3183 (g9 o 2T
77(%)=100——100 2 —1002—2—5238%
—— et te
d) En el punt de funcionament:
I'N . 31,83 2m
7 (%) = 100 —— = 100 —2——— = 100 —*—— 20, = 8541 %
UI+% IN <%) 280 17,1 (T)
Exc UN7+ RExc 2 =t 62
Exercici 5
2 2
aR=L=22__160
w; 10000
U 400 U U 400 40
b) R=5="57=254 IL_X_L_H_ZHSO-20-10‘3_6283 63,66 A
U U 400 40
Ie TxX LT I T2 = 31424
wC 21 50-250-10

A =3 /113 + (I, — Ic)? = V3 /252 + (63,66 — 31,42)%2 = 70,66 A

c)S=+v3UA; =+3-400-70,66 = 48,95 kVA
Q=vS*-—p*= \[52 —BW2= J48,952 — (3-10)2 = 38,68 kvar

Alternativament,
Q=QL—Qc=3X.I} -3 XcI¢ = 3_L—3_

Xc
2 2
Q =3-6,283-63,66%—3-12,73-31,422 = 322> _ 329 _ 38 69 kvar
6,283 12,73
38,69 kvar U? 4002
d) Qca — =129 kvar = X_ca b Xca = 12900 12,4 Q
1 1 1
Xc, = - (3= = = 256,7 puF

2wy wXc, 2m50-12,4
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Exercici 6

1 1
a)f—;—m—wOHz

b) EIl desfasament entre tensid i corrent €s 0,6 div - 2 % = 1,2 ms

360° .
¢ =12ms —s = 43,2 - cosp = 0,729

c) Elcanal 2:

IPic

IReal = \/E

3,5 div %’ 1A
(Factor conversi6 sonda) = (

V2 0,5V

P =R 3.y =50-4,952=1225W

) =495A
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